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2018
CBCS
1st Semester
PHILOSOPHY
PAPER—GEILT
{Honours)
- Full Marks : 60

Time : 3 Hours
y
The figures in the right-hand margin indicate full marks.

Candidates are required to give their answers in their
own waords as far as practicable.

HNlustrate the answers wherever necessary.

Ethics ;: Indian and Western

Group—A

Answer any ten questions : 10x2

1. What is niskama karma?

{Tum Quver)



2. What is meant by ¢ purusartha ? -

3. What is ‘dharma’?

4. What is meant by ‘moksha’?

5. How many Purusa@rthas are there and what are they,
according to Carvaka ?

6. Mention the Eight-Fold Paths of Buddhism. x°

7. What is meant by ‘Wheel of Existence’?

8. What are the different stages of voluntary action ?

9. Mention thernamES of four non-voluntary actions. |

10. Can instintive action be regarded as objects of moral
judgment ?

11. What is ‘hedonistic calculus’? »-
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»12. We all desire pleasure; therefore, pleasure is desirable—
Who advanced this argument and in what context ?

13. What is meant by ‘Categorical Imperative’?
14, What is asceticism ?

15. What are the external sanctions advocated by Bentham.

Group—B
Answer any four questions : 4%5

16. “'lState and explain the Third Noble-Truth of Buddha.

177 Distinguish between Sakama Karma and Niskdma Karma.
18. Distiuguish between Moral and Non-moral action.

19. E?cplain Kant'’s concept of Good will.

“20. Explain the nature of moral judgement.

21. Explain the justifications of punishment.
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Group—C

Answer any two questions :

2x10

22, Write a short essay on‘Purusartha’ following Indian

system of thought.

2+8

23. State and explain the ‘Noble Eight-fold path’ stated by

Buddha.

10

24. What is Utilitarianism ? Explain Bentham's Utilitarianism,.

347 %

25. Briefly discuss the different theories of Punishment.
Which theory, according to you, is satisfactory and why ?
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10.

11.

Western Logic >
Group—A
Answer any ten questions : 10x2
What is validity ?

‘Categorical propositions represent the various different
relationship between classes™—Explain.

What do you mean by_figurre and mood of an argument.
What do you mean by ‘distribution’ of a term ?

What do you mean by existential presupposition ?
Define categorical syllogism.

Distinguish between argument and argument form.

How does Mill formulate the method of residues?
Write down the first criticism against Mill’s methods.

Why contingent propositions are contingent ?

*‘

What is immediate inference?
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‘= 12. Translate the following into standard form.

She never drives her car to work.

13. State the obverse of the converse of the following

proposition.

i

‘No reptiles are warm-blooded animals.”

14. If ‘no scientists are philosophers>—is true then what will
be the truth-value of the following ? ‘All non-scientists are

non-philosophers.’

15. What is conversions ? Give example.
i , -
Group—B

Answer any four questions : 4% 5

16. Which of the categorical propositions have Existential
Import and why ? Discuss. 2+3

17. Represent the four types of categorical propositions A, E,
I and O with the help of Venn Diagrams.

18. Use the truth tables to determine the validity or invalidity
£ of the following argument.
(OvPIoQ
Q>(0-P)/..(Ov P} (O-P}
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19. Test the validity of the following syllogistic form by means

1 1
of Venn diagram. 2§+2§
{a) EIO-3, {b} EAE-I
20. (a) Explain the method of contraposition.
. 1 1
(b) State the contrapositive of the following : 2'5+2§
{il Some soldiers are officers,
(ii} all teachers are not frastrated.
21. Explain MilP’s method of concomitant variation. 5
Group—C
Answer any two guestions : 2x10

22. (a) Explain the traditional square of opposition of

pPropositions with example.

(b) Heow it is effected by the idea of existential import.

Explain.
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23. (a) Explain the two senses of disjunction.

o) Use the truth tables to determine the validity or
invalidity of the following argument.' 3+5

(v o(l-J)
Sivd) o~ 1)

24. Distinguish between two-circle and three-circle Venn
diagram. Test the validity of the following syllogistic forms
by means of Venn diagram. 2+4+4 -

() OAO-4, (b} FAE-3

25. Explain the joint method of agreement and difference
following Mill. 10
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. (i) 0AO—4
' (ii) EAE-3
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